
���������	��
����
��������

����������������������� !" #�$%&'�����(�&�)*��+",# � !#-���(�&�)./�+",# �# ##+!

��0	�
�	��
123456������5�	4787�29�����
��4123456������5�	478723456������5�	4

:29����
�	���7��		�2����7;7<�29=7
��4	�>9��

?@ A3�	��29
�	��
�	7B�
�		�29
�C�	9�3��

D�9	4��4��
�E�=7��
D�9	��
9���=7�������	
���
�
�
��������
���
��������������������������
������

���	��

����������
�
���
��������������������������	�����
�
���������
��
����������

����������	
����
�����

F9���GH��
�I
=

�����������	
��
�������	������
�
�	���	
����
�����
����������

H��>�
��J��=��
����
	����������
����
���

• 
��
����
	�	�
����	�������
�����������

��
��
������������
���������
���

��	��������������	��

• �������������������������������
���

 ���������
!�������"	��

#$��	
���	������
�%��
"	��������
�

�
�������"	�
����&�����������

'�$���������


• �
�!���
�����(�	�)	�����
�

*���
�	�	���	����
��
��������+������

��
�����
�)��������	������(��
������

 ���������
!����

• ��"�
�����	���	������ ����	
��
�������

�����	�������
!������������

 �
�
�	�����
���������
���,��-

K�9��
�E��6=�������
!����������
���
����
���	�������"	������
�)��������	�����
���!�
�����,.+�.-

K�9��
��29�7:29L�	>��0
�=

�����
���������������
!���	
���'��)
!�����
����/�������"	
����� �����	��0�($��������
�������	�����"	��#$��	
���	���������
���
1�����������������
!���

M��
3�6�	E=�
���23��

����������	
����
������

F9���GH��
�I
=

�������
�������������


H��>�
��J��=��
����
	����������
����
���

• �������������������������������
���
 ���������
!�������"	��
#$��	
���	������
�%��
"	��������
�
�
�������"	�
����&�����������
'�$���������


• �
�!���
�����(�	�)	��� ���*�

���
��))������� ���$�����	�
��
0����	���
�
������
��	�
��
������
��	�	�!�

• �
�!���
�����(�	�)	�����
�
*���
�	�	���	����
��
��������+������
��
�����
�)��������	������(��
������
 ���������
!����

• ��"�
����#�4���������
�
%��
"	����������
�	
��
�
1��������
����������
�$�����	�
����
����$�����	�
�������	
���)�������
,��-

• �
$
��
��#$��	
���	���������
������
��
�'�)����������*�

���	���������
��
���!�
���������	�����,��-

K�9��
�E��6=�������
!����������
���

����
���	�������"	������
�)��������	�����

���!�
�����,.+�.-

K�9��
��29�7:29L�	>��0
�=

�	��
	��������#���
����	�����������
��������0�
�������	������5	�	��� ��������
������

M��
3�6�	E=�
���67��

�



:29����
�	���7��		�2����7;7<�29=7
��4	�>9��

����������	
����
�������

F9���GH��
�I
=

���!�
����� ���������
!����

H��>�
��J��=��
����
	����������
����
���

• �
��!
����	�����������������
��
�
�	����� ����
������0�
������	����������
�)	�
����
�	
������
���������
����	�� ���
����
����
�)�	�
����(��	�������

• ��������8�
�"����
�
�	��	���������	����
����
�	
����9
������	��5����������
�����
�
�	����������
0���
���

��
����
�
�	���	
�������
��	
����	��
	����
	����	����'��"	
������� �
��!
���"	
��

• ���
��	�����������!�
�����)�����	���
 ����
������0�����������
�
��������
�
�)	�
�����	
������
������
��	��
�	
��
�����������
�	����������	����������
����
��������
5!��������
�(�
�
��	
��	�������
�
(��	��������	
����,��-

• ���
��	����#�4���������
�
8�
�"����
 �
��
���������
�
9�
�)���	 ������
�
�	���	
��(��
������
�
,��-

K�9��
�E��6=�������
!����������
���
����
���	�������"	������
�)��������	�����
���!�
�����,.+�.-

K�9��
��29�7:29L�	>��0
�=

���!�
����� ���������
!�������

��
���������	�
���������	��)�:�	���	�
���
9
������������
��
��
�	
���
������4������

M��
3�6�	E=�
���6;��

����������	
����
������

F9���GH��
�I
=

+$
��
��������1������� ������
�	��
!��
��	��
�)������������ ���&�����	������&�����	�

H��>�
��J��=��
����
	����������
����
���

• ���������	����
�����
��	������	��
�
���
�	��
!��
�	��'��!��	���	�� �������
������	�
��������
�������	��������
����"	
��	����������
������
���
�
"	
��
�����	
������"	
��������


• �
�!���
��$�����	�
��0�$�����	�
���
�������	����'��"	
���������
�
+$
��
���� �������	�������
�	��
!��
�

• �
�!���
��/��������!�����"	�
����
"���"�	��
�1�
��
������
��
���
�	�
���������0����"	
�������
	�)������	������+$
��

��	���������
	���
������	
������"	��	���
���	�������
�����	��)�����	����

• ����:�	�
����	�����"	
����������
������������
�	�����
���	��

��	�����
���������
���
�8	��	
��

• ���
�
�	��������
�
�	���	
���+�
����

�����
��	 �
����
�	��
������������
��
�����
��
�����)�����	���

• ���
��	�����	��(�������������	��
�
���
�	��
!��
���
��	�����"	
������ ���
5!���������$�����	�
��
�����
$�����	�
��
�9�
�)���	 ��,��-

K�9��
�E��6=�5���"	
������	�� ���
���
�	��
!��
���������
�	���������,.+�..-

K�9��
��29�7:29L�	>��0
�=

���
�	��
!��
�����#���
���
�"	
��
�����	
���
���"	
������������'���$��
�)��	�	�
��
�
'���	�����
����������������
��	
��
������
�
"	
��
�����	
���������������
�����	
����/������

M��
3�6�	E=�
���26��

 



:29����
�	���7��		�2����7;7<�29=7
��4	�>9��

����������	
����
�����

F9���GH��
�I
=

8�
�����
��
����1�
�����	���	�

H��>�
��J��=��
����
	����������
����
���

• �������������������������������
���
 ���������
!�������"	��#$��	
��
��	������
�%��
"	��������
��
������
�"	�
����&�����������'�$�������
��


• �
�!���
������
�)�������	������������
�����"!
�	�����	�� �
!���
���������
��
����$��	
���'��"	
�������,�����
/������� ���8	���)�
	����0�
�����
!������������
�
���������
���
��
�	��	����-

• ��������8�
�"����
�
�	��	���������	����
����
�	
����9
������	�5����������
�����
�
�	����������
0���
���

��
����
�
�	���	
�������
��	
����	��
	����
	����	����'��"	
������� �
��!
���"	
��

• �
��!
��������	�����������	��
�
���
�	��
!��
�����������	��"������
��"	���	��(���������
�����
��	 �
�
���
�	�����
��	������
�����	����
5�����

����������"����
����

• ��"�
����#�4���������
�
%��
"	����������
�	
��
�
1��������
����������
�$�����	�
����
����$�����	�
�������	
���)�������
,��-

• ���
��	����#$��	
���	������
�
(��
��������������������
<��)�
���
����	���� �
�����
8	���
�
������
������
�)�	�
��������
$�����	�
�������"	
������,��-

• ��"�
����#$��	
���	���������
������
 ���
�����
��	 �
����
�	��
��������
����
�(�
�
��	
��	����� ���
"	
��
�����	
����.���
����������
�
��
��
�	�����������	���
�����,��-

• �
$
��
���	��'��"	
���������
�
'��"�	����� ���'������!
������
�
��
�"�
����������
�	�
���������	��
/�������������	����
�
�
�!�
�����	
��
������
��	���
"�
������������� $���
����,��-

• ���
��	�����	��
!���	
����

!



:29����
�	���7��		�2����7;7<�29=7
��4	�>9��

��
�����������������+������
 �
�
�	�����
�#�4���������
�
���������������
�	� �
�
��
���,��-

• ��"�
��������
�����'�)������
�
1�
�����	���	������������
���
�	� �
�
��
�� ���
.�����
	����	������
	�	�
��,��-

K�9��
�E��6=�������
!����������
���
����
���	�������"	������
�)��������	�����
���!�
�����,.+�.-�����5���"	
������	�� ���
���
�	��
!��
���������
�	���������,.+�..-

K�9��
��29�7:29L�	>��0
�=

�����������	
��
�����������#���
��������
�
�������
��������
��������

M��
3�6�	E=�
���62

:����76�	7:
��6��7��76�	7D�9	4��4��
�E�=72�57NO

"


